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>> fs=100;

>> t=0:1/fs:7;

>> y=sin(2 *pi *15+xt)+cos(2 *pi *40+*t);
>> cs=fft(y,600);

>> plot(abs(cs))
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>> length(cs)
ans =
600
>> abs(cs(297:304))
ans =
1.0e —012 =

0.4916 0.2391 0.1781 0.2115 0.1807 0.2115 0.1781 0.2391
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50/300x (T—1)=1H0000000000000000O00O0OOOUOOD0OODO0OO0OO0OOO0OOOOOO
goboobooobobooobooobooooobooooooobooobooboooooobooooboooooboooon

11




0O~ O Ui W

gboboobooboooboooooboobooboooooboooboooooboooooboooboooobooon

FFTOOOOOFFTOOOOOOOOOOODO 20000000000000000200000000000
obooboooooooooooooobooboobobooboooobOooobooooboobOOobOOobooboobOoon

goooooobooboobobooogoobobooooobobooooobobboobDobobobooDbOoboo

>>a=[51026 3]

a =

5 1 0 2 6 3
>> ax4
ans =

1 0 0 0 1 0
>> a(a >4)
ans =

5 6

>> find(a >4)
ans =

1 5

gobodboroboobooboboob0oooDboobL o000 boUbbUDbOooboOn
000040000004 000000001000000000000000O(1100:100000000
ooooOooooon)
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000000000000 000000000000000O00+£ind 0000000000 (1900)0 find
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U0 find 00000000000 1200000000000000000000000

>> find(abs(cs) >250)
ans =

91 241 361 511

000091000241 00000000000000091000 50/300x 91 —1)=15Hz0241000
50/300 x (241—1)=40Hz0O0 000000 O0O0OO0O0O 1203000 sin0cos 00000000 OO0OOO
gboboooooooooooboobOoboboboboboobooooooooooooboooOoOobobOobon
ooo
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y = Acos(2mft + ¢) (4)
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>> ¢s(91)

ans =

—9.2300e —012 —3.0000e+002i
>> cs(241)

ans =

3.0000e+002 —1.0978e —011i

500000 ¢s(91) 00-9.23x10712-300 0000300 00000000000 011000Ocs(241) O 300
000000000000¢00000OD (DOUO0)UDUOO (UD)0DDO0OUDOUOUDOOOOD MATLAB
U0 angle DO OO

>> angle(cs([91 241)))

ans =

—1.5708 —0.0000
>> ans/pi
ans =

—0.5000 —0.0000

cs(91) 000D —-1/2r 00cs(241) D000 0000O0DO0D0OO0O0O0OO0ODOO0OO0OOOODOODOOOOO
000000000000 120 yOOOOOcos(2715t—1/27) O cos(2740t) 000000000 DO0OOOO
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y(i) O »(i4+600) 00000000000000

0000000000000000000000000(y 0000000 120000000)

>> plot(abs(fft(y,599)))
>> plot(abs(fft(y,601)))

fft 0000 600 000000000000 0O00DOO0O0OO00OOOO0O0OOOyOOOOOODOOODOO
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>> w=hann(600);
>> plot(w)

gboboooooo1l10bobobobobob oboboboobobooboboboboobobobo
gboooboobooooboooooaoo

gbooooOobooooboboooobooooong

ooooboo 13: 000000

>> hy=y(1:599). *hann(599) ' ;
>> plot (‘hy)

>> hes =fft (hy);

>> plot (abs(hcs))

>> les =fft (y(1:599));

>> hold on

>> plot (abs(lcs ), 'r)

0000000000000 0O0O00U0O0OO0O0O0O0O(600UODOO0OO0O0UODOOOOUOOOOOOn
O000)7000 plot 00002000’ 00000000O0OOOOOOOOO
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>> [y, fs]=wavread( ' domiso.wav ' );
>> plot(abs(fft(y)))
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goboobDO 15: spectrogram 0O OO0O0O0O0O0O0O00OOO0OOO0OO

>> [y,fs]=wavread( ' domiso.wav ' );
>> S=spectrogram(y,hann(256),128,256);
>> size(S)
ans =

129 36

ooboob 150 s0 1290 360000000000000 1000 yOOOO 26000000000 ££ft
oboooooboooon

0000t 0000000000000000 (6000000000000 000ODO0OUOODO0OOOOOO
000000000 00O0O000o0oO000oOO0O0o00oOD)000000 12900000000000
gbooobOoboooobob 1290000000

00000060 spectrogram 0 20000000000000000 30000000000O000O0DOAO
oooo04000 f£ft 0000000
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>> spectrogram(y,hann(256),128,256,fs, "yaxis ')

00000000000000000o0o00U0oo00 (0D 400000000000000000000)OO
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Frequency (Hz)
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>> figure(2)
>> spectrogram(y,hann(512),128,256,fs, "yaxis ")

figure(2) 000000 DOO0OO0O0ODOOOO0ODOOODOOOOO0DODOOOfigure(1) OOOOODODODO
U000figure U0 0O00OO00O0OD0OOODOOODOOODODOO
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Oifft 000000000000

gboodgbod 16 if£t 00 0000000000000 0000O000O0000000

>> SL=S(;,10);

>> SR=flipud(conj(S(2:end —1,10)));
>> S10=[SL;SR];

>> plot(abs(S10))

>> plot(ifft(S10))
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>> [y,fs]=wavread( ' domiso.wav ');

>> fftlen=256;

>> noverlap=128;

>> S=spectrogram(y,hann(fftlen),noverlap,fftlen);

>> [spsize slen]=size(S);

>> ry=zeros(1,slen +fftlen —(slen —1) *noverlap);
>> for i=1l:slen,

SL=S(,i);

SR=flipud(conj(S(2:end =1)));

i1=1+(fftlen —noverlap) *(i —1);

ry(il:i1+fftlen —1)=ry(il:i1+fftlen —1)+ifft([SL;SR])
end

>> plot (ry)

>> soundsc (ry, fs)

>> soundsc (Y, fs)

6000 ryOUOODODOODDODODODODOODOODOODOODOODODO
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